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job  order  Cost

autonumout  Which of the following production operations would be most likely to employ a job order system of cost accounting?

a. Toy manufacturing      b. Shipbuilding     c. Crude oil refining     d. Candy manufacturing

autonumout  Test Corporation has a job order cost system.  The following debits (credits) appeared in the general ledger account work-in-process for the month of March:

	March 1, balance
	$ 12,000

	March 31, direct materials
	40,000

	March 31, direct labor
	30,000

	March 31, factory overhead
	27,000

	March 31, to finished goods
	(100,000)


Test applies overhead to production at a predetermined rate of 90% based on the direct-labor cost.  Job No. 232, the only job still in process at the end of March, has been charged with factory overhead of $2,250.  How much direct materials were charged to Job No. 232?

a. $2,250      b. $2,500      c. $4,250      d. $9,000  

autonumout  Overhead is said to be underapplied when

	a.
	estimated overhead exceeds actual overhead.
	b.
	actual overhead exceeds applied overhead.

	c.
	applied overhead exceeds estimated overhead.
	d.
	applied overhead exceeds actual overhead.

	e.
	estimated overhead exceeds applied overhead.
	
	


autonumout  For the calendar year, a manufacturer estimates that overhead will total $64,000 and that direct labor hours will total 16,000. Actual overhead for the year totaled $100,000; actual direct labor hours totaled 20,000.
 If 1,500 direct labor hours were worked in January of that year, and $8,000 direct labor dollars were paid, how much overhead was applied to production in January?

a. $6,000       b. $7,500        c. $8,000        d. $32,000        e. $40,000

autonumout  When goods are completed by a manufacturer, the journal entry is a debit to

	a.
	Cost of Goods Sold and a credit to Work in Process.
	b.
	Finish Goods and a credit to Cost of Goods Sold.

	c.
	Work in Process and a credit to Cost of Goods Sold.
	d.
	Finished Goods and a credit to Work in Process.

	e.
	Work in Process and a credit to Finished Goods
	
	


autonumout  Company B had total factory overhead of $80,000 and total direct labor of $60,000. Using the factory overhead rate, how much factory overhead would be allocated to goods in process at the end of the period, which are estimated to contain $12,000 of direct labor?

a. $45,000           b. $16,000          c. $11,250          d. $9,000

autonumout  In job order costing, what journal entry is made for the issuance of direct materials to the factory for use on a particular job?  Debit

	a.
	materials and credit factory overhead.
	b.
	materials and credit work in process.

	c.
	purchase returns and credit work in process.
	d.
	work in process and credit materials


autonumout  In job order costing, what journal entry is made for the return to the storekeeper of direct materials previously issued for a particular job?  Debit

	a.
	materials and credit factory overhead.
	b.
	materials and credit work in process.

	c.
	purchase returns and credit work in process.
	d.
	work in process and credit materials.                         


autonumout  In a job order cost system, the incurrence of indirect labor costs would usually be included in the general ledger as a charge to: 

	a.
	Factory department overhead control.  
	b.
	Factory overhead applied.

	c.
	Work in process control.              
	d.
	Accrued payroll                                  


autonumout   Georgia Company incurred $100,000 in overhead costs during the most recent fiscal year. 
At year-end, before the application of overhead costs to ending inventories, direct costs had been identified as follows:

	                               
	Direct Labor
	Direct  Materials

	Finished goods                  
	  $20,000
	   $ 80,000

	 Work in process                     
	30,000
	120,000


Overhead is applied at the rate of 75% of direct labor cost. 
At what amount should the inventories be valued at year-end, respectively?

a. $100,000  and  $250,000.    b. $115,000  and  $172,500.  

c. $140,000  and  $210,000.    d. $170,000  and  $200,000.

e. $130,500  and  $157,000.

autonumout   In accounting for an immaterial amount of under- or overapplied overhead, which of the following could not be part of the adjusting journal entry?

a. Credit to Factory Overhead Control   

b. Debit to Cost of Goods Sold

c. Debit to Factory Overhead Applied    

d. Credit to cost of Goods Sold

e. Debit to Factory Overhead Control

autonumout   Elliot Company manufactures tools to customer specifications.  The following

data pertain to Job 1501 for February:

	Direct materials used
	$ 4,200

	Direct-labor hours worked
	   300

	Direct-labor rate per hour
	  8.00

	Machine hours used
	  200

	Applied factory overhead rate per machine hour
	15.00


What is the total manufacturing cost recorded on Job 1501 for February?

a. $ 8,800      b. $ 9,600      c. $10,300      d. $11,100

autonumout  X Company used a predetermined rate during 2013 of $2 per direct labor hour, based on an estimate of 20,000 direct labor hours to be worked during the year.  Actual costs and activity during 2013 were.

	Actual manufacturing overhead cost incurred
	$38,000

	Actual direct labor hours worked
	 18,000


The under or overapplied overhead for 2013 would be:

a. $1,000 underapplied.      b. $2,000 overapplied.

c. $3,000 underapplied.      d. $2,000 underapplied.

autonumout   Blackwood uses a job order cost system and applies factory overhead to production orders on the basis of direct-labor cost.  The overhead rates for 2013 are 200% for department A and 50% for department B.  Job 123, started and completed during 2007, was charged with the following costs:

	                      
	Dept. A     
	Dept. B

	Direct materials      
	$25,000      
	$ 5,000

	Direct labor             
	?
	$30,000

	Factory overhead      
	$40,000        
	 ?


The total manufacturing costs associated with Job 123 should be

a. $135,000     b. $180,000     c. $195,000    d. $240,000

